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B.Com./B.B.A. Degree (CBCS) Examinations, January - 2024
(Examination at the end of Third Scmc;t;r)
Part-I111: Skill l)c‘\';h-)i).mcnt B
Rhc;niling

( ch:i/aliun 2020-21)

Time : 1% Hours Maximum Marks : 50
O SECTION-A
Answer any Four questions. (4x5=20)
1. Definition of Retailing.
2.  Roleof Retailing.
3. Store location.
4.  Stores Design.
5. Merchandise planning.
6.  Customer Care.
7.  Job Profile.
8.  Sales Promotion.
SECTION-B
. Answer any THREE questions. ; . (3%10=30)
9.  Explain the types of Retailing? '
10.  What are the factors influencing the grotvth of retailing in India.
11. What are the factors influencing selection of location? Explain.
12, Explain the visual merchandising?
13. Describe about the communication with customers?
|
}
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3%02RTL20 _
B.Com. (CBCS) DEGREE EXAMINATIONS, FEBRUARY/MARCH - 2023
_ e —— e

—

Part-III: Skill Development

(Examination at the end of Third Semesterj

RETAILING
. | (Regulation 2020-21)
Time : 1% Hours _ - . _ Maximum Marks : 50
' | SECTION-A |
L Ansﬁer any Four questiohs. Each question carries 5 marks. (4%x5=20)

1.  Define Retailing. What are its functions? . a9doe—
~ Types of Retailing. e%@ucff‘

Store location types. @@ o> cv@()sDC- .

Define merchandise planmn0 an Lstb‘O o.@g,

2
3
4
5. Retail store deSIgn @&0 "
6
7
8

erte about Hiring. mm oSCE} @
Payroll :
Rule of Three.
SECTION-B
II. Answer any Three qhestionqs. Each question carrigs Ten marks. (3x10=30)

1. Explain the characteristics of Retailing. Explain in detail.

2.  Define rﬁerchandise planning. Explain its components and importance.
3.  Explain the process of merchandise f)lanning.

4. - Explain the job profile of HR.
5

Explain the importance of visual merchandising.

3%*02RTL20/2023
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B.Com CBCS Degree examinations, February/March — 2023
—"  (Examination at the end of Third Semes
Part-lll: Skill Development
Retailing
(Regulation 2020-21)

Time :14/2Hour Maximum Marks:50

SECTION-A 4X5 = 20 Marks

Answer any Four questions. Each question carries Five Marks.

1. 68Bof & DNeD Deovdy Dbdisod
2. 09Bof DGRV DBOSOE.
© 3. ﬁ%oﬁ :)va:a bge&)w.
4. Serdny QRVEN DHBIoCE.
5. 88 Y6 Jopred) DJOBeC.
6. Dong D) DBHBS0C.
7. 58S dmrd?
8. d&rs wd 8

SECTION-B 3X10 = 30 Marks
Answer any three questions. Each question carries Five Marks

1. 8880 Hdourd DdErrS) Sotr DHBSC.

2. orodag PRPER DHBOY), WO’ oTLRD T OB JHBSoC.
. 3. ardag onds Q3o DHOSOC. |

4, S Sete dbod, SE e (R0y D36l

5. cygy Tredey QRVS S, T DB
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B.Com. General/Computer Applications/Accounting and Finance/Tax
Procedures and Practice (CBCS) DEGREE EXAMINATIONS,

JANUARY - 2024

(Examination at the end of Third Semester)

ADVANCED ACCOUNTING

qut - 11

(Regulation 2020-21)

Time : 3 Hours

Answerany Five questions.

PART-A
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1.  Receipts and payments account.
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P Dissoluﬁon ofa pértnership firm.
gPIRng éo}g 8. |
8.  Statement of affairs.
zs;zsxss@@ D56,
| PART-B
Answer any one question from each unit.
8 SRS ool %) PES Sdrgeso Emdﬁném - (5%10=50)
» Unit - 1 |

9. a. What are the difference between receipts and payment account and income and

expenditure account?
Sy BoYe e DO Erdd e o S Srosh D560508?
(OR/Bwr)

From the figures given below prepare an income and expenditure account for 2020.

SiB0B DT 0D emdd Ko FE SaHAGbOR?

Receipts Rs. ""‘Paymernlts | . Rs.
Sirey 0 Swdo S BRoden F080 &,
To opening balance | By salaries 4800
To (@r8oss dex' | "~ By Save
inhand ' 290 .
BBS° $K5ed | ;
At bank 1,600  Byrent 500
eSS S . {Byed
To subscriptions . "\Bystationery and postage 200
To Soteen b , ?. By PH6 S08akn 36?8&

3%02ADA20 , @)



10.

2019 500 By bicycle purchased 300
By 285 S5/ en

2020 8,300 By national saving certificate 3,000

2021 600  Byhelp to needy students 2,000
| By 28 S)cs‘gégs SFcso

To sales of investments .- 2,000 By balance

To "’oaé.gaaé:ea @éagéo ' k- By ex |

To sale of old furniture - iﬁhand _ 300

- Toard 5635 EENS ' 3@&3’5
(Book value Rs. 400) 300 Atbank - 2,400 2,700
S5 Do Do 400)  emoSt

13,500 : 13,500

Subscriptions for 2020 still receivable were Rs. 700, interest due on savings
certificates Rs. 100 and rent unpaid but due was Rs. 60. -

2020 $oSETIS B0 TEYYS SoTres &, 700, DOoR 35386 $& 100 H6cH
30BN @3 &, 60. |

Unit - II
Distinguish between single entry system and double entry system?
2,08 écﬁg B 2208 ‘o’oci‘g A8 VA Eorod 580350872
(OR/8r>)

Réddy keeps his books by single entry system on 1-4-2019 has financial position was

as follows :

& B 55 Hriwed L.o8 D& ITS0S” MG 1.4.2019 S o3 ¢fE D08
1] -d Q = (%] Q

Léo&: Qorr aob. '

3*02ADA20 (3) [Contd....



Rs. Rs.

Eoe. ot
Cash in hand 1,250 Cash at bank . 2,090 '
J06° St goHE® SHied
Stock in trade 7,500 Fixt‘urves . | 1350
D G DRoden
Sundrydebtors 9,800 Plant 154100
aoea|iyen 5ot | }
. Sundry creditors 9,000 Drawings | 5,900 j
DD emeamreBen PoSsrrzren

On 31-3-2020 his financial positioﬁ was as follows :

31.3.2020% % @gé ?.36?38 Léotﬁ APore &0k,

Sundry creditors 7,500 " Plant” 18,100
QDY aoestesen @goém

Fixtures : 320 Debtors : 13,300

ARoHen mea[%gen

Stock in trade | 14,000 "C.ash inhand | _ 1,150

K55S W60 386 S '

Bank overdraft 3,600.
el &365La°ag).

You are required to Prepare a statemnet of profit and loss and a closing statement of
affairs. \

5o JH6Y Dbuh CPSTo D686 rHod,
3*02ADA20 g ()
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X S o o=cE = S COEE oD of ST 88T L1206 I
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Disremzash hetwese reshsetion socoarfapd Ravalaton sccount?
= % l\
oS g 0 {88 &= Raps Siay oD ISSoSok?
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l
(OR =)
Achers ad Amserd 3y poroess m o Shonme profis and s e o of 32 on

> B TS L) e | | S - ~ 2 -~
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3*02ADA20
B.Com. GENERAL/COMPUTER APPLICATIONS/ACCOUNTING &

FINANCE/TAX PROCEDURES & PRACTICE (CBCS) DEGREE
EXAMINATIONS, FEBRUARY/MARCH -2022

(Examination at the end of Third Se ) -
* Part - IT : B.Com General/Computers

ADVANCEDACCOUNTING
(Regulation 2020-21)

Time : 3 Hours Maximum Marks : 75

SECTION - A

Answer any Five of the following questions. (5%5=25)

0BT B (BRSO SEFEESIven (A0S,

1. Deffered Revenue Expenditure.,
doodd Tal Pu)

2. Life Membership Fee
£ Hefsey LoroEm.

3. What are the features of single entry system?

2085t drSo OFETDD?

4. What is networth?
K DenS

5. Hire vendor

08 OXFHTH

3%02ADA20/2022- ‘ a [Contd...



6. What are the essential features of partnershlp firm?

wﬁ.%‘sé)s S0y g é:os,)eg o8eS?

7. What is sacrificing ratio?

o OB oS 30?

8. What are the circumstances under which a partnership firm gets dissolved?
gy oy BEaDy D SosumB?
SECTION - B !f\
g

Answer All the questions. . (5x10=50)
o) BHpd BSHrEEEves ([FanEn,
Unit-1
9. a) Distinction between non profit concern and non-trading concern?
BEY, TNFOSY Soge Dy HgEsvresn DBBoHIW.
(OR)

b) From the following Receipts and payment account prepare final accounts of
a sports club for the year ending 31.03.2018.

Receipts | - Rs. Payment Rs.
To subscriptions 15,000 By Land 10,000 ¢
. To Donations 50,000 By Buildings 40,000
To Legacies 10,000 By Furniture 10,000
To. Extrance fees - 5,000 By Sports materials 5,000
To Life members fees - 3,000 By Sports expenditure 6,000
To Sports Income 17,000 By General expenses 1,000
| By Magazines 1,500
To Sundries 5,000 By Ground expenses 4,000
To Sale of old papers 500 By Balance c/d 28,000

—————————

3*02ADA20 ‘ 2



Half of the donations, Legacies, entrance fees and life membership
fees is to be capitalised. Subscriptions still out standing is Rs.5,000.
Depreciation fixed assets by 5% and sports material by 10%.

Bots aX@ss HdrY) BYone FE 2008 28 G Dozwo GwE) Hoho) BHOD

édﬁ)"é) BHo&.
S5Pe o 3poshen S
To ;om@ 15,000 By ¢ri 10,000
To Do 50,000 By sfsaren 40,000
To arsdames 10,0000 By 656 10,000
To 35 i 15,000 By wt 56807 5,000
To 498 Hefsy Swsw 3,000 By &te qxs;je» 6,000
To ewen ewdbso - 17,000 By e ptnen 1,000
By $8%e | 1,500
To 29t ity 5,000 By g0 Qg pien 4,000
To &8 55 wsygo 500 By sonot -&)o‘g 28,000
1,05,500 ~1,05,500

Dorgren, TEHEReD, (HIF Hododw, £DE 9 Sosnes® HKo HSretsdEboBos.

5050 Sdren 5eRedS  Potren &renb,000. ?g@‘égo’gg 5% e& Hosoeond 10%

Sorvde  AoED DoHod.

3*02ADA20 3) - [Contd...



Unit-II
10. a) Mohan has not maintained proper books of “accounts. He furnished the
following information before you. Prepare necessary statements for the year
ending 31.03.2008 and Find out the profit or loss.

Particulars 01.04.2020 31.03.2021
Rs. Rs.
Cash in hand 5,000 6,000
Bank overdraft 45,000 40,000
Stock 60,000 62,000
Creditors 38,600 37,200
Debtors 30,000 32,000
Bills Receivable 40,000 38,000
Bills Payble 60,000 57,000
Buildings - 50,000 " 50,000
Furniture 5,000 5,000

His drawings during the year Rs.750 per month Depreciation on
buildings at 5% on furniture at 10% reserve for doubtful debts at 5% on sundry
debtors.

TS &5 srored H0 oond 686° IGETrosSBH. BHS aYPS 08D ISte ol
31.03.2008 & wodidly SoSHTE oIS ok S DD CPRFod S

B%08?
D3oeen 01.04.2020 31.03.2021
8= oS J11
386° I 5,000 6,000
a0 L3586 (&9 45,000 40,000
BHD 60,000 62,000 |
aneErSen 38,600 37,200
awea(i$oen 30,000 - 32,000
Smen Depen 40,000 38,000
390D Depen 60,000 57,000
S 50,000 50,000
HHSE 5,000 5,000

& ;6055&3‘36055 o$d Fof TEse IoD Gen 750, d3T0D 5% H&SH 2 10%
SBoroSe B awoien 5% VoIATREE 8o 269 ATHED  BAHo&. %
(OR)
3%02ADA20 _ O




b) What do you mean by single entry system? What are its advantages and

defecets?

wol B HErido woll DMA? A (BBrarren, e TEHo&?

Unit-I11

I1. a) A motor company purchased two trucks on 1st Jan 2019. The cost price
being  Rs.56,000 on signing the agreement and there ‘after Rs.15,000 being
paid annually for 3 yecars. Interest was changed at 5% depreciation was
written off at the rate of 20% per annum on the reducing instalment
system. Give nccessary Journal entries in the book of both the parties.

2019 2550 1 & BOS a8 Brwth Lodd o o3 - S%fen 5583 Botd (LEnet
5%50ffen DabEo «:0A0H. (GEpen SHeh Srego G 56,000 % adjoso P Hodseen
SRR EEn 15,000 BPod DHADKE 3 HodHres® (B8 HosHT8 Grn 15,000
BYoDHIYT afoso TaHans HE3e0 5% LoSHTIE 20% TS Swrde EHEe
TonTro HEO (B0 Doy BaHEHHG. Both ¥obde PHITes® HHEHH ey Hred

(EPaH0l?
(OR)

b) What is meant by Hire purchase system and installment system? What are
their features and diffcrcnces?

03 Fdifer HEH HOWD Tt oo HEO ol IN? B ofpren BOD, O
s o Borold DHBoHIW? '

Unit-1V
12. a) Define partnership. What is partnership deed? Give it’s contents. -
PR DBRP0HE. ?,7"(‘?533635 a.dyoto >@26n°3§b? T B Sogroarsd?
(OR)

3*02ADA20 ‘ (5) [Contd...



b) A and B are partners in a firm sharing profit -and losses 60% and 40%
respectively. That balance sheet as on 31.12.2019 was as follows.

Balance Sheet

Liabilities Rs. Assets Rs.
Creditors 40,000 Cash at bank 2,000
Capital Debtors 25,000
A 40,000 Stock 40,000
B 30,000 70,000 Plant and machinery| 43,000
1,10,000 1,10,000

A 58w B en 3Hde 60% 5HQckn 40%

The partners agree to take ‘C’ as a partner on the following terms:

That ‘C’ will pay Rs. 20,000 as capital for 40% of future profit of
the Firm. r

That the assets are to be revalued before his admission. The stock be
reduced to Rs.35,000 and plant and machinery be depreciated by 10%.

That a reserve of 2%% be created against debtors.

As the new partner is unable to pay anything for goodwill, a good will
account be raised in the books ofthe firm for Rs. 30,000.

Show necessary Journal entries, profit and loss adjustment account and
the balance sheet of the new firm.

NPHBS® ergdTpesy Do otoTmt,

31.12.2019 & &0 e oo I8 Bod orr Hob.

gﬁym oS 1] 9@03 5)0"
DTS 40,000 0% 5K 2,000
Sreisso aea(Eikien | 25,000
A 40,000 sl 40,000
B 30,000 70,000 | Srotw-aholgeen - 43,000

1,10,000 e e

Lk 1,10,000
T & (BoB JnosSed &b

a)

b)

3*02ADA20
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‘C’ &» 20,000 e ARIIGGY D) ergrens 409

B85, . ', é“"g"‘ﬁmé’ Soeersisore

08 HIEENS B RO S

8. 35,000 e BRoBHBI.
BAHEBB. '

Eogosssn Sansag,

NS
@3.0"'-‘0*01)0@3»03.3 o DenHd

S5DHSeK, :'QU:)éao
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L ©) ooy DS 24% abh doves BcksE.

d) &8 i KEDS (8ot AW éméao%éoooﬁ coog :"gs"@é‘g HEDS

e 62.30,000 of BESIBH,
OTIBPR  Dipdigen @D, CefdTer Shurto govd HOSH EF S0P
Gof) o ohpo S SarEHBH0E.

Unit-V
13. a) Garner Vs Murray case Explain.

mé&E Vs &0 Eood dHBoHm.
(OR)

b) ABC are partners sharing equal ratios. They dissolve their firm due to
financial crisis. Their Balance sheet on the date of dissolution is as:

Liabilities Rs. Assets Rs.
A’s Capital 24,000 Building . 30,000
B’s Capital 27,000 Machinery 15,000
C’s Capital 9,000 Stock 30,000
Creditors 81,000 Debtors 66,000

1,41,000- 1,41,000

All assets realised for Rs.51,000/-. All the partnets were insolvent and could
not contribute anything from their private asset. Prepare ledger accounts.

ABC oo griidesoe ergfdafol Ddlrdone BOHEIOLRS. a6 esgé 56?88 et
Smorr ¥y 6 STed DFHowodTd. 0 o) edyo $ (Bod DFore @ob.

eI pen S0go ' e50en ' 3o
A Srerdo -~ 24,000 g 30,000
B Swregso 27,000 oSoo(@een 15,000
C Sresso 9,000 $EE 30,000
20T 81,000 exea|I§oen 66,000
‘ 1,41,000 1,41,000

51,000/- &)e»:{) Ko eden Swdo zécccoe:o 900, 0055 egvm\noo BTEe AT
70 Rrod efe Ho8 Inod IRy SWED TBH. WSIEDE oot S
BcH08. ' \ |

| 3%02ADA20 | 3
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l!( om. General /Computer Applu ations/Accounting and Finance/Tax
T Procedures and Practice (CBCS) DEGREE E XAMINATIONS,

HBRUARY/WAR( H - 2023

(Fxamination at the end of Third Scmester)

AI)VA\( ED ACC ()l '\“'\(,
“Part- 11
(Regulation 2020-21)

Time : 3 Hours

Section - A

Answer any five of the following

1. Define Capital Expenditure.
S Sty I Dok,
2. Non-Profit Entities.
o BN Toim.
3.  Advantage of Single Entry System.
*ond :)oé ?%So Gt E‘/?JJ%&«"JO.
4.  Hire Purchaser.
ESh'en o) NdbinoinBol.
5.  Financial Statements.
Ol s
6.  Partnership Deed.
T e |
7. NewRatio Calculation with example,
CTFnG B8 D58 fnh
3#02ADA20/2023 ()

(5%5=25)

[Contd....
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8. Dissolution of Partnership Firm.

ISy H0g B,

Section - B
Answer any one quesﬁqn_ ﬁ_orP_E_:ach uqit. e (5x10=30)
Unit -1
9. a) Distinction betweerf Non-Profit Organization and Non-Tradin g Organization.
oy 89 S0y, BEES Koy gy Hseedo.
(OR/Sw)

b)  Problem in Income and Expenditure Account from receipts and payments A/c of
Vijayawada Sports Club for the year ended 3]+ Dec-2008, prepare Income and

Expenditure A/c.

Receipts Rs. Payment Rs.
To Balance b/d 300 : By Rent 5,200
To Entrance fees 550 By stationary expenses 3,068

To Subscriptions

2007 200 By wages 5,330

2008 16,900 By billiards Table 3,900

2009 300 By Repairs 806

To Lockers Rent 500 By Interest 1,500

To Special Subscriptions

for Governors Party 3,450 By Balance c/d 2,396
22,200 22,200

Locker Rent Rs. 60, pertained to 2007 anq Rs. 90 is still owing. Rent Rs. 1,300
pertained to 2007 and Rs. 1,300 is still due. Stationery Expenses Rs. 312 relating to
2007 and Rs. 364 is stil] owing,

Subscription Receivable for 2008 is Rs. 463.

3*02ADA20 )



Deschard AT ) §5 G HIEy Bk BP0 gree Hod eTchHTw HdA
Hyoire gk 31, 820286 2008 r° o BoHod.

S Sngo 3oHen Swo&o
To [ZrBoa) Dex 300 By &3 5,200
To [$3% Sooiio 550 By Q%6 3,068
To dgkzegen
2007 2000 - By 3$aren 5,330
2008 16,900 By H9c58) &end 3,900
2009 300" ]
To 83 ©@ 500 By 5syden 806
To K585y a8 3,450 By & 1,500
g%0 @3935 dgko By $mAoz) Jex 2,396
22,200 22,200

%6 g - 60%rn, 2007 & $o2060D36 S8 90&TI [OT° 2250 GO R
130061, 2007 & HowoRODHE HBH 13006 Bose BROTY) Gob, D
pi)en 2007 8 Jo20609) 31281 86w 36481 [05° Heedd Hobh.

Unit - I1
10. a) Mohan has not maintained proper books of accounts. He furnished the following
information before you.
Prepare necessary statements for the year ending 31.03.2008 and find oﬁt the profit
or loss.
Particulars 1.4.2020 31.03.2021
Cash in Hand 5,000 6,000
Bank Overdraft 45,000 40,000
Stock 60,000 62,000
Creditors 38,600 37,200
Debtors 30,000 32,000
Bills Receivable 40,000 38,000
Bills Payable 60,000 57,000
Buildings 50,000 50,000
Furniture 5,000 5,000

His drawings during the year Rs. 750 per month. Depreciation on Buildings at 5%
furniture at 10%, Reserve for doubtful debts at 5% on Sundry debtors.

3*02ADA2( . 3) [Contd....



11.

b)

6 ) ‘«68;6 PP c@t\DS"CJt\D cx)&'oJ‘Ou’_’sC/) 955 aJ) Smoth &
@o&owcﬁa 31.03.2008 &° é»n(oco Q0%
B ergto Srwe Sapl) BofPib0l,

Wil gy
£ l-:.l’u (I J(Je

".'J')J B Uon/.;,uu c/ﬁ)w/l/u"Js JJ (//J 74/{1'/0”

DSooen 1.04.2020 31.08.2021
286" St 5,000 6,000
e50% LSEER 45,000 40,000
36 o 60,000 62,000
0ETIPES D 38,600 37,200
200ea(tinen 30,000 32,000
Denen AREBOSEASD 40,000 38,000
DOOBHOVS Depen 60,000 57,000
gSHTen 50,000 50,000
$0)56 5,000 : 5,000

DoREBoS® s E?o:ooﬁe» RS &r. 750. 5% 5 5 5¢ ghTup S5t 10%

&063035(00)855326 oHpe &80 D amea@oao 5‘7 L,CS,OE: Iy

b.l

(OR/Bx)
Difference between Single Entry and Double Entry System.
20AS Do HBa Kand Ao B iy Lzgio.

Unit - III

A motor company purchased two trucks on 1* Jan 2019. The cost price being
Rs. 56,000. The Purchase is on Hire purchase basis Rs. 15,000 being paid. On signing
the agreement and there after Rs. 15,000 being paid annually for 3 years. Interest was
charged at 5%. Depreciation was written off at the rate of 20% per annum on the
reducing instalment system. Give necessary Journal entries in the books of both the

parties.

2% Toer8 EoDd 1 22556 2019 § Bod é)é: 5D SoRen £20b. &5 &= 56, oo

5iten 326 Fften [PEDHED 2:o15&00. &=.15,000 2OEHT5. aarmso

Hoss¥o 3 @)é&é . 15,000 (\)o;’)é °8 3 csolﬁé C‘a.a z...@'.?’éﬂ O% c...., S5t

A =
Bchadod. éﬂo@ onTR ) :;o;ﬁépmé 20% SE3 Srese ) Eb080B.

OSTEDS w55 Aoyt @il Bod &Ffo Tsw.
©5IEDS Both Fho Hiwe =S ao@o:n 35508,

o

& red

3%*02ADA20 4)



(OR/Bow)

b) What is meant by Hire Purchase system and Instalment system? What are their

features?
276 SEE B3 HoB0kw ASLSDOE MYD ©oB DB HiSh HO?
Unit -1V
12. a) Define partnership. What are advantages of partnership Deed?

PRy TR G0 Seesmeen DeE® BO KRR MBSOl

(OR/Bee)
_’ ‘ b) }I(‘lun.mr and Suresh are partners sharing profits and losscs in the ratio o 3:2 respectively.
1eir Balance sheet as on March 31, 2015 was as Under.
Liabilities Amount Assets Amount
Creditors 28,000 Cash in Hand 3,000
Capitals: Cash at Bank 23,000
Kumar 70,000 Debtors 19,000
Suresh 70,000 1,40,000 : Buildings 65,000
Furniture 15,000
Machinery 13,000
Stock 30,000

1,68,000 1,68,000

On that date, they admit Deepak into partner ship for é— share in future profit on the

following terms:

1. Furniture and stock are to be depreciated by 10%

2. Buildingis appreciated by Rs, 20,000

3. 5% provision is to be created on Debtors for Doubtful Debts.

4.  Deepak is to bring in Rs. 50,000 as his capital and Rs. 30,000 as good will.
Make necessary Ledger account and Balance sheet of the new firm.

3*02ADA20 (5) [Contd....
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b)

All the assets were realised [Except Cash] for Rs. 6,500. The expenses ol realization
amounted to Rs. 200. C’s private estate is not sufficient even to pay his private debls.

From the above prepare Realisation account, Capital accounts and Bank account (o
close the books of the firm.

AB %8050 C en ergf 26%3@ PN $0&8Se0s® egvr‘{@“ﬁa’wsodiﬁ (3TOYOW.

C Barer SBH0HE 0 B f¢5 & Bod dore &) 808" R, oty
Dol T8 K)gcmo:ﬁ)é)oés"tﬁ).

o ped Swgo adye0 So0é§ 0
DG 2eaTeSEeD 2,500 Natad 500
A G &3P 1,000 S| 3,000
Saperdf Seen: V5% Dex 4,000
A Sreddo 3,000 $HOBD 500
B Sweddo 2,000 5,000 - C Swretddo 500

xSt 67.6,500 S5 00T B, BOHSESS aren 200. C8& &) B
a‘gges eHpen &BYotHH yorme HODSEO B,

(OR/Br)

Explain Garner Vs. Murray Case study?
55 Vs. én@ ER ;géﬁ) &);660:50&.
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3002MKT20
B.Com.General (CBCS)Degree Examinations, January 2024

(Examination at the end of Third Semester)
Part - ll Marketmg
(Regulatlon 2020-21)

Time : 3 Hours Maximum Marks : 75

SECTION-A
Answer any FIVE of the following questions. (5%5=25)
& 8ot &S D 2BoBE HirErarey [FPEH0A.
1. Labeling
GEALeYal
2. Marketing Mix
$8)8B0n FKoam
3.  Market Segmentation
Loo0)e5 Derhsses
4.  Product classification
5% a’zéééea
5. Determination of price
55 DB |
6. Publicity
HHE
7. Direc't Marketing.
5858 576 Boh
8.  Selecting Segments.

QePTPO oY

3002MKT20/2024 | (1) [Contd....



10.

I1.

12.

SECTION - 1t

Answerany FIVE of the following, questions

Su k{‘-u\\\ OO O wdoddor Wirproren [rabol,

a)

b)

b)

b)

a)

b)

b)

Explain 4% of Marketing,
.‘(\wd\\‘e‘.’m}'\' Aoty AP o DHOOKOE,
(OR/ejer)
Lxplain the Need, Wants and l)mnuml‘nl'Mm‘lwlinp,‘)

ARSI Qloth eoididto, B0Men 03 Aol DHBoSoR.
|

LExplain the buying, Decision process,
8o gD Bdod DHboBOs,
(OR/Eeyw)
What are the Advantages ol Market Sepmentation?
gt Dt Aot HAreRred HH0OGBOE,

Whatare the levels of product? Lxplain
5 Pavoid Do,

(OR/&igw)
Explain the Branding and packing.,
[rolioh $0di rgBohd HBooISL,

What are the factors influencing the price?
H5S (HerdiBo Wo mimeo OHBoBS.
(OR/Bow)
Explain the skimming and penetration pricing?
QoR 0D POEIAS o DSOS,

Discuss about distribution Channels.
Hobd Sovorol K8y Histoot.
(OR/Etr)
Explain personal selling and Direct marketing,
GRS wiliydo 0 By Srd)lohid Hibboibol,

J002M K120 (2)

(5% 10=50)

|
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3002MKT20
B.Com. General (CBCS) DEGREE EXAMINATIONS,
FEBRUARY/MARCH - 2023
(Exammatlon at the end of Third Semester)
Part - II:
MARKETING
" (Regulation 2020-21)

Time : 3 Hours Maximum Marks ;75

e ' SECTION -A
Answer any five of the following questions. (5%5=25)
/I/ Marketing Environment
SR, St
2.  Packaging
a'fséion
/3/ Personal Selling
5{}%?% o
/4./ Product conccpf
58y qrisis i
¢ / Global Marketing
@ asc;é/’f, Seyfioh
6 Sklmmmg pricing
Cpih G5
A7 Advertising
5P @m‘s
8.  Consumer Behaviour

AT (545564

3002MKT20/2023 . () ' [Contd...



SECTION-B

-~ e -

- - 21 - -~ ,_:'
Answer 2oy five of the followine cosstioms. (5716=5%4)

JOQ2MKT20 Q@

=
- - x - e = e =) & - ” -
L S rraar st ? Refiv ex—torn rreede st iy o

\\ [ 3350 A -.'...-'....\sg...::’ .\A[.:_\. D‘..e'.;_' &2 e jT35) &

et 2R ONE ~33 Aoz L= 2 T oo L s, El T A
& ‘,ﬁu‘; =5 808 J8? X=C Loy S Eiom I8k
~ -

~ -~

— - -~ . Y o - - -
3% gea R a A AT senem d A o & B e e o e )
“ Ul OV URN CUIGGRULI COIRTC S 0 I Zmxesmeey

- ~— gt T —

- - e
Explam the advenizoes 2nd dicoriis —* some (& ol o8 ¢ommm ot ot o
EXPIEmM I 20VENIZESs and Crsadve 11220s of merkel weomeriation,

T = =

S=FwS o N Sl S S S o LR Sl
SO TOGN o) =T £ el AN 0 a5 e

~ -~

-
-
ORZ=)
~— ~— T -

ko tha (R s O Fe i o Rt g
L.\..,.. J LiNa Nl :}‘:QCL‘/_'...\ OCEEVIOIE.

- - 2 . * -
TIT2 2T T R ne® Y s ea L s e -
Wiite sbhout new CFOCECT CEVerorTeni pROCSesSs.
£ [

Explain zbout prodect mix 2nd prodoct Boe decision.

W

==< N TS AN AXNNESES O N L A Y E D DL m Al
#—Lt_——:‘ S0 OOCTS SRS A LCE e ooy &55 0B/
C

= S 2
) P -4 R ad e . e Ty S ——— ey
Explein the differences between skimming znd penetresion prices
<z P _— - A < L e - F S — el - g, -~ F. o= . 2
2o (Sammimng) 33T DECD FHSET So Tf Seure It oieA
oA = » "¢

] " -~ v
2T o Te— > T wl =~ SNl B
ST € 080N TTNEE Mo S on S 55807
< < =2 & p o &
What are the functions of promoticn mix?
o= BN Do & DS DZEeHZ?
L -~

Discuss shout distmibution chennelks.
r $ > > o~ >
0G5 eSSl
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JO02MK'T20
B.Com, General (CBCY) DEGRER EXAMINATIONS, FEBRUARY / MARCH - 2022
(Examination at the end of Thivd Semester) |
Pact - 11: B.Com General
MARKIETING . |
(Regulation : 2020-21)

Time 12 Hours Maximum Marks : 75
) SECTION - A
© Answer any FIVE of the tollowing questions, (575+25)

1. Define Marketing.

:6:“3\3‘5\)5 NY) :05:3&0\.\\:\.\\).

2. Marketing Environment.
- oeOloll QuiFtve.

44
p

Consumer Behaviour.
QATHTWHD SST,

4. Product Concept. \
SRNIEUSI

Penetration Pricing.
SHDHNBD F8 oo

l.ll

6. Adverdising.
BESSC

~.  Online Marketing.

SIS S
g. Branding. -
. |eroloh
3002MKT20/2022 i oA *[Conta..



10.

11.

12.

13.

SECTION - B

A -4 -~ - =y -
Arswer ALL the questions.

\]
N’

2)

o)

.
\}
-

Explzin 4P°s of Marketing?

4 P’s ZThCR T TEonIS?
(ORE=)

Explzin the concepts of Marketing?

TSR TSNS SEAchEs?

E‘pr‘ﬁ Buying Decision ess?
Faffn s BESS D38onE?
(ORE=)

lzin the advantages and disadvaniages of market segmentation?
=%

Exp
T goZS
Describe the product clzssification?
f,._ eé,{,.-:. e:sc—./.-r .(._‘9
| (ORE)
Explain about product mix and product line Decision?

£ Imtto LAch 5535 Do MHEeD D2%olI?

(5x10=50)

VWhat is the importance of pricing in marketing in marketing strategy?

EfR € DEAOA IyEE s s D380%E0?
(ORE=)

Explain 2bout pricing strategies?

g5 TFo 8ot S%6053507

What zre the functions of promotion mix?
ZEFLE uEko GuF L D320%E0?

(ORED).
Discuss zbout the distribution channels?
Zotd froe EoD 2380Ecl?

3002MKT20 (2
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6%*02MKT15
B.Com.(Gcnerral/ConlEEt_e_r;S_) (CBCS) DEGREE EX_A.\'IINATIO.\’S,
JULY/AUGUST- 2022
(Examinat‘ic;l—;t the end of Sixth Semester)
MARKETING
(Regulation 2015-16)

Time : 3 Hours - » Maximum Marks : 75
SECTION - A
QgriiSn-a
Answer any Five of the following questions. (5%5=25)

AT oD BYhed ST (Fchd.
e (=N
[.  Objectives of Marketing

d‘_:— — <
-080h Gnd) oFe

I3

Customer Behaviour
AATFHTD Eéé_q:é
3. Branding

zro&oh
4.  Skimming pricing
?o\;ibtpﬁ fatel
Determination of price
fate! Qédﬁso
6. Advertising
Eééés«‘x’:tn
Sale Promotion
2D
S. labeling
S=2090h

th

~1

6+02MKT15/2022 ‘(D ' [Contd....



12.

14,

16.

17.

18,

6+OZMKT15 " ") [

SECTION - I}
| Dipetfisn ~H)
Answer nny Flyve ol the following questions, (5%10=50)
lf"u 1 g 0t (14 )r‘)!'u Eegeneen (mrdihng, '
UNIT -1
Lxplnin nbout the different concept ol marketing?
.’.".)“Q)i(‘."n B e ool Diaboibol?
(OR/Eew)
Lxplain nbont Marketing, Mix,
ftyoh o Hood Dboiiol, b
UNIT-11 :
What is buyer behaviour? Explain about the stages in buying decision process.
Bl entth l"“" 560 DENET BGRke .".)ggd’n Hhahd® Gide HBol) ZI)::SDQ?:SO&.
(OR/Sew)
What is market segmentation? Pxplain about advantages of market segmentation,
RO AL woly Handy -'.’n'f('ﬁgff)' Dfesl ([HOIresRte mbot) DHBosel,
UNIT- 1
Fxplain about product life cycle,
Sy AL wtf’.u Moty Hintodol,
| (OR/Eew)
Fixplain about the product mix,
iy u))l o Hbob) Disboial.,
UNIT -1V
Fxplain about the different pricing strategics,
D e Zygiher HBOL Dtoiol,
(OR/Se)
Faplain about the importance and factor influencing pricing.
7)) (:;,:;r':t)téu Wty wtomen B L' i B0 Hisboisol,
UNIT-V  / :
Fuplain the promotion mix, Pxplain the factors influcnced lu promotion mix,
t,’,?."ﬁ'f}ﬁ,"; Zl;(ffifn"i'})‘ aNHboiol., [J:’Jff‘n %550 uhlm.n ), (5,’;-",)"..)«00 D50 awomes SH00SoR,
' (OR/Eem)
Fxplain about various digtribution channels,

oW, o/ s ’
:/’:)'9/) 'I/J/)I';el 'l/"lq"'g f’(/’)’)l‘:) Z)‘l/lr;’]bfl(l.’:'h
/
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6*02MKTI15
B.Com.(General/Computers) (CBCS) DEGREE EXAMINATIONE,
pdiostagi e e
AUGUST - 2021]
(Examination at the end of Sixth Semester)
MARKETING.
(Regulation : 2015-16)

\—’l’_f

Time : 3 Hours Maximum Marks:75

SECTION-A
Answer any Five questions. (5%5=25)
1. Define Marketing?

SB)Boh AED0EHE?
2.  Product concept.

S5 PR,
3.  Market segmentation.

SBYES Dfesss. ‘;
4. -ConsumerBehaviour.

DAGPHTER (558 :
5. Product Life Cycle. \

S £ Hgo.
6. Penetration pricing.
FEOPD §8 dgrdo. '
7. GlobalMarketing, |
oS KBS,
8. Advertising.

(B8

6+02MKT15/2021 a [Contd....



10.

11.

12,
13.
14.

15.

16.

17.

18.

SECTION -B

Answer All questions C o (5%10=50)

Unit -1
Discuss about the classification of Markets?

$r8)¢5e ééééeaé) 5809 DHBOHEN?
(OR)-
Explain the 4P’s of Marketing?

Lrr8)foh G 4P © HBoD JHBoYHH?
| Unit - 11
Explain the different types of buying behaviour?
DD Bero EHier (BB 900D ddBoHos.
(OR)
Explain the advantages and Disadvantages of Market Segmentation?
SrT)5 ot T (BBoresTren Srodn DHBoHBN?
Unit - 111
Write about new product development process?

SLIVON) @5)6’39&65 QAL Ealgﬁd’)wzé) DHBoBok.
(OR)
What is Branding? State its merits and demerits?
wro&oh e—9:6n°38)3? @Jvo&oﬁ ) (BSBresiren ot J580S08?

Unit-1V
Write about the factors influencing pricing decision? .
58 dBcsrOD [Harddo Td DD wowoH HEWR?
(OR)
Explain the various methods of pricing of products?
5 $8 AJadh a’;géﬁao:ﬁ: DHBoHos.
Unit-V
Discuss about the distribution channels?
Hodd SrTredd 1Y) DHBoLE. '
(OR)
What is promotion Mix? Explain the factors affecting marketmg of promotion Mix?

lioimS aat%a‘nén OIMPIN? toi?d Slbtééaéw:éa 26?8@60526) lgsa)%‘i)éo Bkn eoTod

3)&‘)60{50&'7

6*02MKT15 ¢ @)



(6*02ZMKTI15)

B Com (GeneralVComputers) DEGREE (CRCS)
EXAMINATION, MARCH 2020

. (Examination at the end of Sixth Semester)
MARKETING
(Regulation 20156-2016)

Time  Three hours Maumum 75 marke

SECTIONA — (6 = 5= 25 markas)
Answer any FIVE of the following.
1. Define Market.
2B, DESOPHIW,
“ WMarketing Environment.
PS 250,50R Sorgiteso.
3. (Consumer Behavior

Packing and Labeling,
;)-5.’,05 208cin Sudoh,



5. Publicity.
T8,

6. - Social Marketing concept.
FHTRY S0 30R g, O

T Skimming pricing.

DB &8 TP,
8: O.nline marketing.

Clelile il ;‘JPBbei’)oKJ.

SECTION B — (5 x 10 = 50 marks) -

Answer ONE question from each Unit.

UNIT I
9.  Explain the importance of marketing. .
237°0),830R BR0FBR0 95B05)H00.
Or
10. Exami

ine the factorg affectlng marketing mix.
wabesoﬁ OFD[ - ESEAR Y 3 5657O)
$58390H03m0.

s 2. (6*02MKT15)



i

13.

14.

UNIT 11
Explain the stages in buying decision procoass

DAoL Fftay 1Jiab S0 5380308,

Or

What are the charnctenistics of market

segmentation?
55°3),630R Dgied AL, ofmAave JI7?
UNIT I

Explain briefly the steps involved in developing a

New Product.
576 59 o93AS° 623620y 22§ Bl Lo

380D,

Or

Describe the merits of Branding.

[eo&oR ergrey 9585Bomaw.

3 (6%02MKT15)



15.

16.

17.

18.

UNIT IV

Write about the factors influencing pricing

decision.

8 DYATOR [HraB0 DD 994 woTOR FO00E.

Or

What are the pricing strategies followed for a

product‘?

2 S0 $8 DYATDE 0980 Feges HD?

UNIT V

- What are the advantages and disadvantages of
advertising?

TS (S50 Bo¥), BEBTET) SoBck S

D97

Or

Explain promotion mix.

RFT)TE DOBH0R0R0 DIB0oHA0.

‘Q

(6*02MKT15)
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t\\.(‘m\\‘, oo l/Camptogn) i HH'!M CCVOH TS ANTEIATIO, AT AT 2
v ony ik e e al it Hinnst g
MATIIEPERC
(Regrulntion S0 S0 1)

Tane T Mhvee hours Mt H i b

PART AN (b= b= 20 markng

Answor any IV ol the fallawing,

Lo Define mavket,
RV AR DAGHORA,

20 Explam social marketing, ;
A ), ol oy oatogan,

A, Marvket sogmentation,

Q) Dand

4. Selling concept,

mm&am NN,

5. Online marketing,

esoBare A, loh,

a Now product dovelopment

REERNRTENAY

enetration priving,

-3

STAn0 aaahy (o npvdo,

M Marketing Bnvironment.

Ay elol Sovateo,




10,

11.

12.

13.

14.

16.

PART B — (5 x 10 = 50 marks)
Answer ONE question from each Unit.

UNIT1
What is marketing? Explain the importance and objectives of marketing?

D370),630R e 9237 557,630k grsdes $o80%s [Pr00955R0 BeOHRW.

Or
Explain the 4p's of marketing.
D370, E30R GB2:K); 4p's KBod 9980504,
- UNIT I1

What is buying behaviour? Explain the stages in buyit)g beha\jig)ur.
DVOITRTEIN (59859 DEGD0D, 78 §50f e S350 9580508,

Or

What is market segmentation? Explain the stages in buying decision process.

BIBYLS POLED WITHA3? DIBTTED S350R e BB SF0r0 9580503,

UNIT IH

‘What are the various product management decisions'taken by a manager

Doty Bidasroeniy) 295 39390 DésTre) 9580,
.Or
What is product life cycle? Explain the strategies followed at each stage of product life cycle

D395 Bt BH(Eo edTBA? ‘.{)mi{)) 2% éLs‘ofo DG St @*gaﬁe)?éa Z):)aocg)m)

UNIT v

Write about the factors influencing pricing decisions. ' ‘
$8 DPOSTOD (Sgrato B 99 eowes 2870,

Or

prlam the different pricing strategies? What are the new product Pricing meth -

ods
2 “,é b5r0 &8 g)gdi) ;)jvgaﬁeu dHBoB0&. JeBd :bzooz’g) 61).)5(, 38 a&’)éoe)éo :)580@;330

(6*02MKT15 )



17.

18.

UNIT V
Explain Promotion Mix.
I Ry SN RV PNV “
(27700 D50 HHB0HH.
Or
What are distribution channels? Explain their role and importance in marketing.

o3 Broger edmAW? SRyl B59RE" srT)toR BT S B0 PRV
258055,

3 s (6*02MKT15 )



(6*02MKT15)

B.Com. (General/Computers) DEGREE (CBCS)
EXAMINATION, MARCH/APRIL 2018.

. (Examination at the end of Sixth Semester)
}H:\RI([-ZTING
(Regulation 2015-16)
Time : Three hours Maximum : 75 marks
PART A — (b = b = 25 marks)
Answer any FIVE of the following.

1. Product concept.

:):3 AR

2. Market Segmentation,
570,60 Defesd,

3. Product mx,

370 ES0IW,

4. Branding,
l_eJ‘O&Oﬁ.




-J

10.

Penetration pricing.

SPE0)%0 A §8 DFTRO.

Advertising.
Tg0 (D56,

Global marketing.
0BT Ea HI°3) e,

Marketing Environment.

‘:)J"Bbef)oﬁ 50‘556890.

PART B — (6 x 10 = 50 marks)

Answer ONE question from each Unit.

UNIT 1
What are the different concepts of marketing’ .
3070);¢30R Bw¥), 224 Ysee RO ot
Or
Explain the 4P’s of marketing.
308),80R &8, 4P's (800 2580508,
o (6+02MET1Y)

g



11.

13.

14,

UNIT II

Explain the different types of buying behaviour.

DI E570 §T0R"e (3980 K80 25800,

Or

Write about the segmentatlon basis for consumer

- markets.

DOSBIHTED $5378);6 By, Defesty BEAHS® add
€9) esoa"’e)éo 3);580{50& |

UNIT III

- Write about product life cycle.

9 208 DERY DHB0BOG.

~

0 ) Or‘.‘
Write about new producﬁ development process.
5°8 H9D) wnAS” 998 HI8aHOR0 95Bo%od.

 UNIT 1V

Write about ° the factors influencing pricing
demsmn | |

fnte] K)gdirem Léwg)ééo 3?9 DAE OTPON ?,36"2;?60&.

" Or

3 . (6%02MKT15)



16.

17.

18.

Explain'the differences between skimming and
penetration pricing.

Ao (skimming) 58300 208k SBNEE HEo
S DFBeREO DHBoBod.

UNIT V | | @
Discuss about distribution chénnels.
So%e Srmgre K8y 2980508,
Or

What is promotion mix? Explain the factors
affecting marketing of promotion mix.

B8 QOES0DD  ePTRN? (DT 0[EH050M)
$30);630AR0 [FgrDBi00 Bk eoFsneH DHB0B0G.

4 - (6*%02MKT15)
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B.Com. (CBCS) DEGREE EXAMINATIONS, FEBRUARY / MARCH - 2022
(Examination at the end of Third Semester)

Time : 1% Hours

Answer any FOUR questions.  Each ‘answer carries 5 marks.

1.  Online business

2. E - Commerce
X - a*e'é%\o

3. Procurement
s

4. Logistics

n

6. Online Advertisements
®odre (H5eSen

7. -Payment Gateways
BDoH NeSSen

8.  Supply chain management

BEHo> o> GG

3%020NB20/2022

SECTION - A

Customer Relationship Management (CRM)
QAT Kodopre QBgSoea.

@

T ——

Part : 111: SKill Development
Qnline Business
(Regulafion : 2020-21)

Maximum Marks: 50

(4x5=20)

[Contd...



10.

11.

12.

13.

SECTION - B
Answer any THREE questions.

Define online business and explain its charecteristics?
wodTre TRrto AGDOD HOEd A ofmrold (@dod?

Elucidate the challenges of online business?
@odTL TS JSTHD JHBoSol?

Explain the strategies of online business?
©odTre TS FxSPod  DSBoSol?

Discuss the process of strategic planning?
FGFEE (DS Aeddwd 1r0) SByoSold?

Explain the importance desigining online business website?
©odTe TS 3D ErHEO)S ) (oS, dSBoSed?

(3x10=30)
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, - 3*%02BST20
B.Com. General/Computer Applications/Accounting and Finance/Tax
Procedures and Practice (CBCS) DEGREE EXAMINATIONS,
. January - 2024
(Examination at the end of Third Semester)
"Part - II : B.Com. General/Computers
BUSINESS STATISTICS

”(’Reguldt—ion 2020-21)

Time : 3 Hours ’ ' . Maximum Marks : 75

' SECTION-A
Answer any Five of the following questions. - (5%5=25)
DE 0 [SHEH SETEO [FAbod. |
1.  Characteristics of statistics.
KeseoBegsn 63;)&‘,37 oFeen.,
2.  Classification.
508Ges.
3.  Merits of median.
:é:t%ﬁé:ﬁw E’xﬁr&aa"w.
4. Measures of dispersion.
DJBes Seen.
5. Co-efficient of variation.
DiSBed MHeaBs.
6. Karl pearson’s co-efficient of skewness.
=5 DOHB)S By e
7.  Meso Kurtosis.
D HERS,
8.  Probable error.
Dogrsgs &E%sm.

3%02BST20/2024 ) T e [Comtd.



. SECTION-B
Answer All questions. (5%10=50)
o) Ef)«a;ebé) ESI v ALNTe) Emoﬁao&.
Unit -1
9. a) Explainabout tabulation.
‘ééétﬁm 80D Es'adﬁao&. R :

(OR/E)
b)  Average wages of some firms are given below represent this by simple Bar diagram.

80b DTren Q) Koo TodS ity Jdtren & eprdorr FErSy &b HeY

odod.
Firm A B C D E - F
do. . \ ' : .
®
Averagewage 345 | 598 540 305 190 150
Dt e,
. Unit - 11

| . 10. a) Find median for the following data.

Bots md BEowl8 He-) EHFI0l.” A
Weight (In kgs) 10-19 20-29 30-39 40-49 50-59 60-69 70-79
ot @ od)
- Frequency: 14 20 42 54 45 18 7
2RS35, | 0
(OR/Sew)
b)  Calculate mode for the following data.
Bob 2O BTrozels 2D SO,
Classinterval: 10-20 20-30  30-40 40-50 * 50-60  60-70
BBKB. 0SB
FoRRRELL g g B s T 2S00 R Y0R T 3

3%02BST20 ' @



Cwit - 151

$1, 2) It Ginsarsiens’? Uinas ave it featanes of 2 yood measure of dispersion.

-

‘4.'07

& 7 S ”
Vgl ot 7, VGt Sl s Lt St elar s o
“ L wy -,

{(’p,‘é’.?;

o

By Caloate sandad deviation and 8 crrefficient.

vt - A
(:7"» '?”/v :f';,’. s ,'f ;) 'y/-')’:/l(l';l :’fl / :m}:é {.’*I;ﬂ F &/‘:‘fxu.,"t

70-80 £0-90

(laars §G-20 U3 340 46050 SO-60 60-T0
L Ers,
f 5 Y i4 20 25 IS5 % 4
Cnit-1V
12, z) Erpham different types of Kuroan,
SAX e PR 1t Sihasih
(OR/Ze>)
by Caloulate Bovleys co-efficient of skewness.
DL Hay lowty, (baiol.
Clzssrs: 0200 2040  40-60  60-20 £0-100
& % 12 20 14 6
Unit-V
13, 2y Czleulate Y.zl Pearson’s co-efficient of correlation.
o, Ll sy VPl CTsim.
Heights of fathers (Inches) 65 66 67 67 68 69 71
Gtrs idsfs (el eh?)
Height of Soms (Inches) 67 645 64 68 T2 70 69
Clkons ity (wkomrtl)
(OREr)
b) Find out spearman’s Rank correlation.
b i, Oyl Tarlasryly Cohiodm,
MarksmEnglish: 80 64 54 4% 49 35
sofftt Lty :
Marks in Telugu © 36 38 39 41 27 43

Bttt Lty

302BST20 3)

73

70

32

45
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3*02BST20
B.Com. (General/Com_Pﬂu—tgx" Applications/Accounting and Finance/Tax
= Procedures and Practice) (CBCS) DEGREE EXAMINATIONS,

FEBRUARY/MARCH - 2023
(Exammatlon at the end of Third Scmcstcr)
Part - II B.Com (General/Computers)

: (Regulation 2020-21)

Time : 3 Hours o , : Maximum Marks:75

_ SECTION -A
Answer any five of the following questions. - (5%5=25)
1. Explainthe functlons of statistics. ;
Besrosre O DBBOSOR. \
2. . Tabulation. )
85
3. . DlSCllSS the merlts of AM.
” OB Gk e,

4. Range.
R

5. Standardd'gviation. '
| eSS Do,

6. Di‘f‘ferenc'e's between correlation and regression.
HFonoio HBcy (BRI i Baren.
7.  Objectives of time series analysis.
: S°0E3E% o) Ggodren.

8. ' -Explain Index numbers.

FOL) ?5083930263 DH5B0L04.

3#02BST20/2023 (1) [Contd....



SECTION - 1B

Answer all questions (S<10+50)

9, in)

b)
10, a)
b)
L) )
b)

BomsT20 ‘@

Uit < 1
What is Tabulation” Explain the elassification of Tabulation
l«'\fﬁ\".«'\u e i ? ..\4:’_". ,.“\ o) DAH0oSOA
(OR/e)
Draw a Histopram from the following
OMNS DA DHod ﬁr‘:‘:’\.'\“.'.'v.'\\ Adindin
N 10-20 2030 040 40-50 S0-00) Hi)-70 70-80
b & IS (N 70 50 10 20 IS
Unit - 11
Find median

Gy A3 8lodod

Class ) 0-10 10-200 20-30  30-40  40-50  S0-60 60-70
Frequency S 10 15 10 16 10 4
(OR/Sar)

Calculate mode
VLR BT Rk,

N 0-4 J4-8 812 12-10 16-20 20-24 24-28
"3 R 8 10 16 N O }
Unic- 111

Explain diflerent types of Kurtos's?
DAY Borey Kurtos's ey DDH0ORYH.
(OR/&er)
Caleutate Pearson's shewness,
Xio 0-10 10-200 0 20-30  30-40  40-50  50-60  60-70
e 10 15 20 20 10 3 2




12,

b)

b)

Unit-IV
Calculate standard deviation.
@Pé:va%é Do) ERPK0w.

Age - 10-20  20-30 30-40 40-50 50-60
Persons : 10 28 30 42 . 65
(OR/Bw)

Calculate mean deviation and its coefficient by using AM.
S8 DSomeR) B g DS 1HeseR) BofCosw.
X: 10-25 25-40  40-55  55-70  70-75
e 9 5 17 8 12

~Unit-V

Calculate Karl Pearson’s correlation coefficient.

=6 2558 $5H0208 1HeaseR) BEOWHW.

X: 1 2 3 4 5

Y: 3 4 6 74 10
' (OR/Bw)

Find out Spearman’s Rank correlation.

Ry06 &8 T8 Sp000mRR), B,

X: 28 34 29 54 50 52‘ 60

Y: 18 12 10 20 24 30 32

e e

60-70
70
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3*02BST20

B.Coxh General/Compufer Applicétions/Accounting & Finance/Tax Procedures

& Practice (CBCS) DEGREE EXAMINATIONS, FEBRUARY /
: ' - MARCH - 2022

(Examination .at'the" end of Third Semester)
Part : II: B.Com General/Computers

Business Statistics
‘ ‘(Regulation 2 2020-21) _
Time : 3 Hours SECTION - A Maximum Marks : 75
: Qgrtidn - @
Answer any FIVE of the following questions. , (5%5=25)

8.

' 53@5 §)5§?\)5 ‘ R

P wt HHES VEREEEEDey (oD,

Questionaire.
BanD2.

Explain the characteristics of a good average?
$009 Jrfend GoXSON VFErod DHBoYHBN?

- What are the merits and demerits of Geometric means.

oo @Y, HEratren SPirod, B80T,

Define skewness and explain its features?

Saigo  ABDOD oferod HBoHIN? | -

Meso - Kurtosis

Probable Error

Bogrsgs &0

Range

TR

Mean Deviation
ST DisosEm,

3+02BST20/2022 . | [Contd...



SECTION - B
dgrifsn - O

Answer ALL questions. ‘ (5%10=50)
o) BHOD JIrErSwen  (TPaiom.

9. a

b)

10. a)

b)

11. a)

b)

What are the statistics? Describe the characteristics of sta.tistics?
KerodRdn ol IW?  Kerol TP ofmrod DSBoHI?
(OR/8wr)

Draw a cumulative frequency curve of ‘Less Than’ and ‘More than’ types and
find the median for the following data.

Sob Kgrozd8 Bol KX, ‘Kol QKNS oD X:Hg Tposd Ad, Heigeed)
BP0k,

x 10-20 . 20-30  30-40 40-50 50-60 60-70 70-80
y 2 5 11 15 9 6 2

The marks obtained by 60 students are given below.
Calculate arithmetic mean

60 $Hod X)cs‘gdgoé) a’mti)&e» 8o AERI6. eaoéa’aacéesér:& KB30S08.
x 0-10 10-20 20-30 30-40 40-50 50-60
f 3 6 10 21 12 8

(OR/8or)
Calculate Median from the following data

Bol adyd Serozds SoggriErd) B8ood.

x 30 42 38 56 32 60 45 50
f s 20 8 6 7 4 10 5

Explain different types of Kurtos’s?
G Bseo Kurtos’s %800 Db560Hsn?
(OR/8or)
Calculate Bowley’s co-efficient of skewness from the following data.
Bod Szmowds @b Sy Hrsed) B0S08,

X 0-10 10-20 = 20-30 30-40 40-50 50-60
f 5 S ) 20 16 5 2

3*02BST20

@)




‘ 12. a)

b)

@ o

b)

Calculate mean deviataion and its co-efficient for the following data.
Brod a)d Comowdl HrgsH o), DSoS Hos) B8oSol?

Income 250 300 325 350 375 425 600
sedbo
No of persons 20 14 6 - 26 9 1857
%o Houy

(OR/dor)

Calculate Standard deviation?
(ErRE Do) SPSoh?
Temperature -40--30 -30 - -20 -20 - -10 -10 - 0 0-10 10-20 20-30

No.of days 10 28 30 42 65 180 10
X y

Arithmetic mean 18 100

©0¥ gyo

Standard deviation 14 20

(DErEE  DSeso

Co-efficient of correlation between x and y is +0.08 find the most probable
value of y of x is 70.
X 0 y © 5% Diedonoy Hrsdn +0.08. X 70 waod y dng) Sogrigee
DenSD BT,
(OR/8o)
Compute the co-efficient of correlation between x and vy,
X D0k y o S 3 Sowod rHrsdui 850w,
p, 61 . 3 4 5
y3 4 6 7 10
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| 3*02BST15
B.Com. (Gen/Res) (CBCS) DEGREE EXAMINATIONS, March - 2021
‘ (Examination at the end of Third Semester)
BUSINESS STATISTICS
Part - II : Core Paper
(Regulation 2015-16)

Time : 3 Hours Maximum Marks : 75

SECTION-A ,
Answer any Five of the following questions. (5%5=25)
1. Limitations of statistics.
Heeo¥ TP HO&Hen
2. , Primary Data. |
@%aaé (el v
3. . Harmonic mean .
e EA Y
4.  Features of good average
oD Jnéw eFesren
5. Prdbable error
?60&,‘3%623&5 &0
6. Correlation
260“3%023066
7.  Seasonal variations.
20EKS DiSBesen
8. - Usesof IndeXNurﬁb"ers

o Sogge SHTerren

3*02BST15/2021 6Y A [Contd...



SECTION-B

3%02BST15 { @

Answer one question from each unit. (5%10=50)

| Unit -1

9. a) DrawaBardiagram from the following information.

&roS Dt ol 276 PR AB)oSod.
Year/Sos&)80 1941-50  1951-60  1961-70 1971-80  1981-90  1991-2000
Birth Rate/es$mrer Béw 50 48 43 40 37 32
Death Rate/ 8o e 30 27 25 20 18 15

(OR/Ber)

b) , Draw Histogram and Frequency polygon.

BHD Hey JIFHos® 21":6:?{3265 2505HRY DGO
Class Interval/88r8 eodto  0-10 10-20  20-30 30-40 40-50 50-60
Frequency/2r%: %50 4 6 10 15 12 3
| Unit - 11

10.. a) Find Arithmetic mean

@oééscséé:énéa BP0
Class Interval/$sr@ eosdo  0-10  10-20 20-30 30-40 40-50  50-60
Frequenty/ars: gsn 4 6 10 15 8 1

(OR/Btr)

b) Calculate mode |

2S5EESDD B Ssm. .
Class Interval/$s58 1020 20-30 30-40  40-50 50-60  60-70
Frequency/2rs:5dgsm 4 6.‘ 20 10 7 3



11.

12.

13.

Unit-I1I

a) + Calculate standard deviation.

BrirBS DSoTR) EOFHm.

C.1/85K8 woio 1020 20-30 30-40  40-50  50-60 60-70 70-80  80-90

FlRrs:igsm 5 - 9 14 20 25 15 8 4
(OR/Bw) '

b)  Calculate Bowley's co -efficient of skewness.

Foe @) IS 1Headord BofPoam.

C.l/8558 wodbo 10-19  20-29 30-39 40-49 50-59 60-69  70-79 80-89 -,

F/2r:855m -5 9 14 20 25 15 8 4
Unit-1V

a) Calculate the co-efficient of correlation.

b)

Jseho050 Hredod Boitdsim.

50 60 55 65 75 70 75 80 90 80

S

10 14 15 11 12 15 16 20 18 19
(OR/Bwr)
Calculate Regression equations.

(B JEEBere ESiCosm.

X: 5 10 15 > 20 " 25

Y: 20 40 30 60 50
Unit-V

Fif a straight line by the method of least squares.

%05 Spo HEB wo° $BYS (538 B§ood.

X:%osdgo 1999 2000 2001 2002 2003 2004 2005 2006 2007

Yibabotog 19 25 32 300 35 27 25 30 30
(OR/Bar)

|

3%02BST15 A3)! [Contd....



b)

Reversal Test.

D6 Ford Sogy VB0, ©b 20 HOBBY, stEzPe HOBH

QBr0B0dk.

Commodity 2017

SH Price Quanity
5 D00

P 6 50

Q 2 100

R 4 60

S 10 30

ik 3 40

P ) b s oo sk

o

e S ot o e ST
i e e N N SRR

5 H880

Price
(s’

10

2

-~

6
12
8

2018

, Construct Fishers ideal index and show how it statisfied time Reversal test and factor

o) B0 390

Quanity
20,0
56

120

60

24

-

30 @



(3*02BST15)

B.Com. (Gen/Res) DEGREE (CBCS) EXAMINATION, OCTOBER/NOVEMBER 2019.

(Examination at the end of Third Semester)

Part II — Core Paper
BUSINESS STATISTICS
(Regulation 2015-16)

Time : Three hours : ' ' Maximum : 75 marks

" SECTION A — (5 x 5 = 25 marks)

Answer any FIVE of the following questions.

1. Limitations of Statistics.

Kool w3 56280,

2. Schedule.
hCﬁJ"?Sq‘,’Q).

3. Harmonic Mean. v R
::vqusémm.

4. Co-efficient variation. .
25880 Koeatsnm.

5.  Probable error.

BogrdgEe &%50.

‘6. Regression.

BSRRDB0, -

7. Seasonal variations.

20080/ DBBezeen.

8. * Limitations of Index Numbers.

378 Sogge 5820800,




9. (a)

(b)

10.  (a)

(b)

Draw Multiple Bar diagram.

20 &b Serd) :)Béoaoé‘..

UNIT I

SECTION B — (5 x 10 = 50 marks)

Answer ONE question from each Unit.

30\‘;;:;50 1961 - 70 1971 - 80 1981 - 90 f 1991 - 2000 l
Birth Rate -~ f _ ‘
I 13 10 7 | sz
Death Rate B o o i |
6o B 25 20 18 J 25 J
Or
Draw Histogram and frequency polygon.
R D0 IT*ADE’ 2R:PIg LITIEHED DBroRA :
Class Interval : -
BEXS SoBEN 0-10 | 10-20 [ 20-30 | 30-40 : 10-50 | 50- 60
Frequency i o
“'}‘:”:7);3,30 4 0 1’0 15 } 12 ] ‘
UNIT I
Find Arithmetic Mean.
50505000 SORTLDD.
CL 1
BERS 0-10 10-20 | 20-30 | 30-40 | 40-50 | 50-60O
Frequency _
2150 ) 10 28 30 20 10
Or
Calculate Mode.
2IRIPEIDR E0AB[WL :
QL ]
BEXS 10-20 [ 20-30 | 30-40 | 40-50 | 50-60 | 6070 i
Frequency . ’7
2REYBI £ g 2 10 7 3
- _——

(3*02BST15)



UNIT III

Calculate Standard deviation.

EE5S 20990005 LR0RTR0R0.
[C.L
L e 0—-10110-20/20-30{30-40|40—-50|50-60|60—-70|70-80
| 230N9
Frequency } ) } 3
' ;7;52:2:5?30 15 15 23 22 25 10 5 10
Or
(b) Calculate Bowley’s co-efficient of Skewness.
5B B¥); P3B0g Kea¥oRd ERR™R0R.
ClL
S5 0-10 10-20 | - 20-30 30 -40 40-50 5‘0—60
Frequency )
- = 2
;"'«;6;:3)&50 D 12 20 16 5 2
UNIT IV
12. (a) Calculate the co-efficient of correlation.
DPHB0200650 KI£a50:0 0N 0.
X 65 | 66 | 67 | 67 | 68| 69 | 71 | 73
Y 67 | 68 | 64 | 68 | 72 | 70 | 69 | 70
Or
(b) Calculate Regressior_l equations.
g PEA80D dDEBETOR EROAR0[0.
X 25 28 35 32 31 36 29 38 34 32
Y 43 | 46 | 49 | 41 | 36 | 32 | 31 | 30 | 33 | 39
UNIT V
13. (a) Fit a straight line by the method of least squares.
03,500 DY Toe B8 Sar [39)80 BY,0508.
Year ' e
505@360 2009 2010 2011 2012 2013 2014 2015
Sales .
v @:l)éS"eD 8 11 17 22 28 32 39

Or

e ol (3*02BST15)




-

) i .
a . . . . n o
(h)  Construet Mishers Ideal Index and show how it satisfied Time Reversal Test and Factor
Roeversal Test, :

By W Howy 080D, 08 5P IBHEN,. s°UsCe HBIED SB¥eD HoByd JBIR08 328

WBIVMO0WOch,

1 . 2017 - 2018
Commodity — : : :
$509) Price | Quantity | Price | Quantity
- fnle] DBI°es0 $8 | DBdores0
A 6 50 10 56
B 2 100" | 2., 120
¢ 4 60 | 6 | 60
D 10 30 12 24
I 3 40 7 8 30




(3%*02BST15)

. B.Com. (Gen/Res) DEGREE (CBCS) EXAMINATION, OCTOBER/NOVEMBER 2018..

(Examination at the end of Third Semester)

Part II — Core Paper
BUSINESS STATISTICS
(Regulation 2015-2016)

Time : Three hours Maximum : 75 marks
SECTION A — (5 x 5 = 25 marks)
Answer any FIVE of the following questions.

,‘ Discuss the importance of Statistics.
KSS"OS’B"QZAD o.‘bogb @v;ﬁ:oa)?sé:
2.  Tabulation.

D355,

3.  Discuss the merits of A.M.
0S5 Bk, FATERred.

4, Range. ‘
TG

@ Standard Deviation.

[PeHIERE DVORBL.

6. Differénce between Correlation and Regression.
BP9020¢50, (BBKRIHO Hucsy éﬁmoo.v

7. " Objectives of Time Series Analysis.
ST ), 3501?@? 4

8. Explain Index Numbers.

PSR ‘éoa)?se)éo DHBoBod.




10.

11.

SECTION B — (6 x 10 = 50 marks)

- Answer ONE from each Unit.

UNIT I
(@) Draw a percentage Bar diagram. ,
Expenditure: - - Food Cloth TFuel Rent  Education  Others
Rs.: 330 . 108 30 72 48 42
Fore erd He3°R) AdHod |
paney: - oo | e  moddo | od B ABSHNm
i 330 108 30 - o DR il 12
Or
(b) Draw a Histogram, Polygon curve. :
2SO0 D 2sds wIE0ND MGoSod. b @)
X: 10-20 20-30 30-40 '40-50 50-60 60-70 70-80
Lt g OiS 35 170 50 30 20 15
| UNITII
(a) Find a median. ' . | . i o
BogsgER00 BEOB0E. i |
Class: . 0-5 5—10 10-15 ‘15;-— 20 20-25 25-30 30- 35v 36—-40 40-45 45-50
SBK8) | " | ‘
" Frequency : 5 15 ,>21 M¥e7 0 33 22 13 -9 Tikdle 6
@559350) '

(b) Calculate mode.

ar | Lline 0

EPROBESK SRR, B | . _ |
X: 0-4 5-9 10-14 15-19 20-24 25-29 30-34 35-39 40-44

frEgee 10 11 13 25 18, " 1107 5 5
UNIT 111 |
(a) -Calculate Karl Pearson’é skewnesé.,g
5% DALY PIR0gHD égboiéoé. :

X: 0-10 10-20 20-30 30 —40 40 —50 50 — G0 60 —70 70 - 80
Fi: %2410 15 204 5804 - 10 10 3 2

5k Or : G
20 . . (3*02BST15)

R



() Find fBGW‘e;rs skewness) :
' DEDFINH BE,0508.
N 0-10 10 - 20 20-30 30 - 40 40 =59 50 - 60
f: 5 12 20 1 5 2z
UNIT IV
12. (2) Compute Regression equations from the following data :

£o8 3o &= 3=0%0 *00od To [SSHSD 53 3588535070 © Lo:.‘;-oﬁ.

X: 30 40 75 60 50 42 70 72
Y: 40 25 35 40 65 52 60 35

Or
(b) Compute Spearman’s rank correlation.

815 S5707°28 Iowbnd o308 Sromotio 8205 oS4,

X: 1 2 3 4 b1 6 7 8 10
. Y: 8 9 5 4 3 10 1 6
z: 2 3 5 7 6 9 10
UNIT V
13. (a) Fit a straight line trend by using least squares method.
£03 370 358 TT 6B 5580 25,0504
Year: 1996 1997 1998 1999 2000 2001 2002- 2003 2004
ROIT
Cost: 8 10 12 6 8 12 14 16 18
20
Or
(b) Calculate Fisher's ideal index from the data given below and show that it satisfies Time
. Reversal Test and Factor Reversal Test.
335 e arb Songds 82,00 S0 36355 56 8%, 6570 SB35 565 Sodyn BoBHED G
Satudw.
Items . F, (23 P, Q,
10 E 12 3
2 4 £ + 4
3 2 5 5 6
4 i5 6 20 3
3 (3*02BST15)
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(3%02BST15)

(Examination at the end of Third Semester)
Part 1T — Ci)r;e Paper
BUSINESS STATISTICS
(Regulation 2015-2016)

Time : Three hours v ' 5

=1

SECTION A — (5 x 5 = 25 marks)

Answer any FIVE of the following questions.

Define Statistics.

Hes08 ZH300%0 D380%0&.

Differences between primary and secondary data.

=508 08k BsSabH $5078 Boren.

What.are es’sentiéls of a good average?

0D DAL dins‘b ©5g5~e0.

Define Median.

202855503 DEGD0B0E.

Discuss the uses of Dispersion.

D566 Gy, E5ETTeD.

What is meant by Skewness?

De0g0 SHTRN?

Components of Time series analysis.

SCoREe @) GO B)os.

Types of Index numbers.

‘.65"5 ‘éoa)zso 85°en.

Maximum :

=1

a

—=-  B.Com. (Gen/Res) DEGREE (CBCS) EXAMINATION, OCTOBER/NOVEMBER 2017.

marks
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S5 A A LA G A5
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UsIe 1
19, (4) Caleilate srtivndic tnssn,
Class O30 W02 U WAL A SN 60
Yresqiwinsy v/ 4 7 / 10 12 14
R AN
7 % O30 W04 W K AL 4 6050
iR z 4 % 4 16 12 14
€r

() Cxlasiintn wsse,
P ALty 1955 b,
Zi 030 1940 WD) WM Y e 4590
/2 % %19 o) 25 12 ¢
Unin

§9. () CHnts Lpsriim Asvinbions
Y1 ity ly, O 15t e

Ciwas (rictt; - GG IG5 w50 Y5 45505
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(b) Calculate Bowley’s skewness :

X: below 20 below 30 below 40 below 50

f: .10 25 . 40 65
5 PAS0g00%> B 0808 :
X:  20%5 30 083 40 508 50 508
BOpS B ) )
f: 10 25 40 85

UNIT IV

below 60 below 70  below 80

80 85 100

60 %08 70 %083 80 &0
BED BED S
80 85 100

12. (a) ‘ C_alcula_te Spéarman’s Rank correlation from the following data :

R)AHEHS T7508 BiFH0e0¢ KreatHn B,oHHm
/ X+ 20 25 60 45 80 25
Y: 25 50 55 50 60 70

Or

55 65 25 15

72 78 80 63

(b) Calculate two regression equations from the following data :

1808 SEPoTI00HE B0 (XD SEGEID0OD Kead Dohod :

X: 1 2 3 4 5
Y: 6 8 10 12 15
UNIT V

6 T 8 9

18 20 22. 24

13. (a) Calculate Index numbers for 2004 'by'using the following data

(i) Laspeyres meth(_)d
. (ii)) Paasches meth(;d
(i) Darbish and Bowley method

Quantity

56

120

60

36

Prices
12000 2004 | 2000 2004
A 6 10 50
B 2 2 100
C 4 6 60
D 10 12 " 30
E 8 12 40
3

(3*02BST15)
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< B.Com. (Gen/Res) DEGREE (CBCS) EXAMINATION, NOVEMBERZOIG.

e s 24

(Examination at the end of Third Semester)

Part IT : Computer Applications
BUSINESS STATISTICS
(Regulation 2015-2016)

. 1

Time : Three houfs‘ Maximum : 75 marks

SECTION A — (5 x 5 = 25 marks)

Answer any FIVE of the following quest1ons

1. Write the 1mportance of statistics.

Kearo¥ i) @véma)éééo EPos0H0. J
2. Explain the objectives of Tabulation.
D380 B0 9380,
3. What are the properties of_ dispersion?
:)}_69683 OXETOD AD?
4.  Write the inerits of standard deviation.
Ee20°e3E DBoHH0 Bk, (SaEIresaren oS00,
5. erte the ¢ companson between correlation and regression.

[ 4

QT oaooeéo, Lose‘?széoeJ Q065 2:9%0H [EP0300.

6. "Wr1te'the uses of Index numbers.
5D B0y BETETR) Erahu.
7.  Explain the use of computer _sdftware in statistics. .
Kezo¥ TRl Koigrogpab 256 S0 DL (S@orarmreiny 25605,
é »

8. What is skewness?_ Write its objects.

D580 OHTBN? D ERTEOR0 Fraf0H0.
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SECTION B < (8 » 10 = 80 marku)
Answer ONE from each unit
UNIT 1
(n)  What ia secondary data? What are its sources®
Bsdab deroian edmdng? Asdah Serod 338 depyod,
Or

(b) Draw percentage bar diagram with the following data

T 200 Lard' woro o8 Do Adinay

Expenditure : X' unit Y unit 7 unit
Secirean N'owo  Yogrno % perio
Raw material
A& 35 20 40 a5
Wages Q
K 10 10 10
Direct expenses
g 53 J b 10
Indirect expensos
2 ] b

36 Hires S N T
Total expenditure

5& db G0 60

UNIT 11

() Caleulate mode to the givon data.

RO JArTornd erduvto A Sabin %)
X (Height) ; 160 166 160 167 168 169 100
o8y

F(Numberofpersonw): 6 18 20 98 10 & ¢

S0 Sowy

Or
(b)  Calculate Median to the given data.
B85/ B30N 88,094
Woeight (Kgs):  10-19 20-29 J0-39  40-49 60-69 60-0D 70-7H
ot Edod’

Frequency : 14 20 12 b4 4h 18 Vi
(2r91d50)
2 (3*02BSTI0)



11,

12.

13.

(a)

(b)

(a)

(b)

(a)

UNIT III

Calculate standard deviation for the following data.
&4 808 a8’ (SArell D¥ePEL KR HsL

X: 0-10 10-20 20-30 30-40 40-50 50-60
F: 15 17 19 27 19 12
Or

From the following data calculate Karl Pearson’s coefficient of skewness.

586 DHADHY)S PS5 HEEEN DE),08080. :

Age in years : 10-20 20-30 30-40 40-60 b50-60
SAHRY) SoIB TSt
No of persons : 18 20 30 22 10
S50 ?30:)’5
UNIT IV

Compute Rank correlation from the following data. (Spearman’s method).
AOHBRR 0708 TR0 HesEn B8)0PHBw

X: 415 434 420 430 424 428
Y: 330 332 328 331 327 325
Or

Find two Regression equations based on least square method.

5051 5070 SEBS° Botd (HBHD SHLEETOR K308%08.

x: 10 20 30 40 560 60
y: 40 80 60 120 100 150
UNITV
Fit a straight line trend by the least square method to the following data.
EDQ 0 SZO TR0 SEE8ar (S59)80 B8),0HIw.
| Year : 20056 2006 2007 2008 2009 2010
SodBy8o
Production : 75 83 106 129 134 148
a8 Bo £9es°) :
Or
di (3*02BST15)



(b) Calculate Fisher's ideal index from the data given helow and show that it patisfics the
time reversal and factor Reversal test,

o>

A N A e Al D, ~a 4, Py
P36 eststhy S3b Boggy BE0Y B0 B3B8 38, szee 56555 5B, oty DoBHED Gl

0925533,
Commodity Price Quantity
IS &6 HBHI"E90

2014 2015 2014 2015

A 10 12 12 15
B 7 15 5 20
C 5 24 9 20
D 16 5 14 5




